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Abstract 

Spinning Sphere Theory predicts that our universe is a sphere made of spheres.  It also 

predicts that our universe is just part of a multiverse, and our multiverse is part of a 

grand multiverse.  This construction mechanism could go on to infinity on the small side 

of our reality and the large side of our reality.  For instance, our multiverse could have 

about 10^243 universes, and the grand multiverse could have 10^484 multiverses.  At 

which point a new reality kicks in with the grand multiverse being the building block of 

another existence.  The following paper shows how our existence could be constructed.  

This theory is taken down to its roots and shows that the universe starts with what could 

be labeled a quasi-point particle and builds it up to a multiverse and grand multiverse.   

 

1.0 Calculations 

 

If one starts with a point and call this point one, it would in a sense, be a zero-

dimensional spot.  If this spot were spinning it would have an angular momentum.  

One finds that the angular momentum in quantum physics to be as follows. 

 
0.5( ( 1))S s s= +∣ ∣                                         

 [1] 

 

If we square both sides of the Equation 1, we end up with  
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If we say that the original value of s is 1, which is our point there is no spin that can 

be associated with one point since there is no reference to a difference.  Therefor 

spin only makes sense when there are two particles. Note that two particles make a 

line and thus we have a one dimensional object. 

When s=1 then 
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 a dimensionless number.  If this value of 
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this new value of 2s  into equation 2 then we obtain a new value of 
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this value of 3 6s = could be a 6-sided ring with a particle in the middle for a total of 7 

particles and therefore be a unit two-dimensional object. 

 

If we take this equation 2 and substitute the value of 3 6s =  
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this new value of 3s  into equation 2 then we obtain a new value of 
2
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this value of 4 42s = could be a 42-piece exterior to a cuboctahedron packed spheres 

with a total of 55 spheres or particles and therefore be a unit three-dimensional 

object. 

 

At this point it appears that there is, in a sense, a phase change.  Instead of 

continuing to be packed perfectly these points are packed into a spherical structure 

being constrained by a gravitational field, yet wanting to be packed efficiently as 

cuboctahedrons. 

 

It was shown in “The Holographic Principle and How can the Particles and Universe 

be Modeled as a Hollow Sphere”[1] that when packing spheres into a spherical 

structure that the amount of discontinuities made would be equivalent to the amount 

of spheres on the outer layer of the sphere.  The equation for this. 

 

4 ( 1)ds n n= +           [5] 

 

Which is very close to the equation 1 for the angular spin momentum squared of a 

quantum particle.  This seems unlikely to be a coincidence. 

 

It was found in “The Answer to the Universe, the Life and Everything is Still 42” [2] 

That the values of outer layers of the next layers of the construction of the universe is as 
follows. 

81

10 1.8654150388941*10S =  Number of Planck Spheres on the outside of the Hubble 

Sphere Universe 

15 2*(1.3195909052*10 )A  −=  Cross Section of the Planck Sphere, which is the Compton 

Wavelength of the Neutron squared and multiplied by pi. 
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.512
P


= =The packing density of a single layer of spheres 

0.99862347844
p

n

M

M
= =  The mass ratio of the proton to the neutron 

T =  Travel Distance from the center of the Universe to the outside of the Universe in 

meters. 

2 2 2 0.5( 1 ) 4.554032147688E  = + + = =Expansion ratio of the next increment of a sphere. 
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The actual radius of the universe would then be 

93.0183173*10 .
4.554032147688

T
billionlightyears=  
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Explanation for equation 7, Please see appendix A. 

Explanation for equation 6, Please see appendix B. 
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We can put this equation into the form of Equation 2 where 
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$s_{10}=1.8654150388941*10^{81}$ 
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12 9.774555353*10s =   

 

The value 323

12 9.774555353*10s = is the amount of multiverses on outer surface of the Grand 

Multiverse just using the geometry of a sphere, the amount of multiverses, in our reality would be  

 

9.086974907 × 10^484 multiverses.  Why do we stop at the, 323

12 9.774555353*10s = , level?  When 

calculating the mass ration of protons to neutrons, it appears that there is 8 levels to the multiverse, 

which would be 8 levels above the 0, 1, 2, and 3 dimensional parts of a point, a line, a ring, and 2nd layer 

cuboctahedron, which is where the universe transitions to spheres made out of spheres.  8 layers would 

also give us the 25 dimensions of string theory.  24 physical and one, time dimension.   

There is another reason, the value of 0.99862347844 in each equation, this is the mass ratio of the 

proton to the neutron.  The value is raised to a certain power in each level.  If one adds up all the powers 

of that value.  By the time we reach the 12s  value the mass ratio of the proton to the neutron is raised to 

the 511th power.  5110.99862347844 0.49465878058874596= .  This is the first time raising the mass 

ratio of the proton to the neutron is less than half.  Whatever the math is for constraining these grand 

multiverse size.  It seems like a natural break.   
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From this value 40

9 6.5698464230622286*10s =  we can determine the exact value of the 

gravitational constant.  From the “Proton Electron Universe” [5] we found the following 

relationship, which is the amount of spheres on the outside of the Planck Sphere, which 

the author defines as the sphere that builds our universe and has the size of the 

Compton Wavelength of the Neutron.  One issue is that we cannot measure the value of 

the Gravitational Constant accurately or because there are so many varied 

measurements it is difficult to figure out which method is correct for measuring the 

gravitational constant.  In the exercise we substitute the value of 
40

9 6.5698464230622286*10s = into the following equation. 

 

40 3

9 3
6.5698464230622286*10 2

( )

hc
N S Mp

G Mn
= = =     [9] 

Where 0.99862347844
p

n

M

M
= =Mass ratio of the proton to the neutron 

Where 346.62607004*10h −= = Planck’s constant 

Where 271.674927471*10nM −= =   Mass of Neutron 

Where 299792458c = =  Speed of light 

 

Solving for the gravitational constant, we obtain. 

 
3
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2
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*
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G

kg s

−=  

2.0  Discussion 

 

The value predicted for the gravitational constant in this paper is 
3

11

2
6.674379282299*10

*

m
G

kg s

−= . These equations used to predict the gravitational 

constant seem to be the most accurate, and the first confirmation that the universe is 

spinning and that light is curved in space, probably like a spiral to the edge of the 

universe.  The universe is much denser and smaller than originally thought.  density 

was an approximation.  The size of the universe is really controlled by the speed of 

light. 

 

Appendix A - The explanation of equation  7 
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Explanation for N  

 

In Sphere Theory each Sphere is made of spheres, so our level of the universe is 

proposed to be made of Planck Spheres, which are spheres with the Compton 

Wavelength of the Neutron.  The value “N” is calculating, the amount, of spheres, on the 

outside of the next level.  What we are calculating with the value N is the total amount of 

discontinuities in the sphere.  In a sphere of value “X” for a radius, the amount of 

discontinuities turns out to be 24 ( )X X +   This calculation is shown in “How can the 

Particles and Universe be Modeled as a Hollow Sphere” [8] 

 

Explanation for the value E  

 
2 2 2 0.5( 1 ) 4.554032147688E  = + + = =  

 

In a hollow sphere, when we are looking at putting on one additional units sphere layer, 

this additional expansion by a unit sphere will have 3 dimensions of expansion, it will 

expand pi units in two perpendicular directions and a value of on in the next layer.  

When one calculates the scalar change, it is the value of E .  It is proposed that this 

limits the size of a universe.  Since the outside of the universe, in sphere theory is 

spinning, the maximum radius would then be proportional to the speed of light divided 

by the value of E. 

 

Explanation for the value of  in the denominator below the value of E  

 

This value of  is similar to a calculation for Cherenkov radiation we are essentially 

adding up all of the energy of a spinning sphere and including the Lorentz factor.  Since 

the discontinuity particles are distributed amongst the sphere, some are moving near 

the speed of light and some are moving hardly at all.  The summation of all of these 

particles equals a ratio of   if there were no Lorentz factor involved.  The equation for 

this is shown below.  Note that since the discontinuities 2 2( 1)x x− − are less and less 

dense towards the edge of the universe, the Lorentz factor, although very large, 

contributes less than expected to the actual mass of the universe.  Also note, that since 

the travel of light is a spiral the density of matter, at the edge of the universe, and since 

the Lorentz factor shrinks the appearance of distance, the density of matter appears 

much greater than it is. 
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2 2

2 .5

( / ) (( 1) / )
1 /

(1 ( / ) )

n

n

x n x n
n x n dx

x n


−

− −
 =

−  

I should explain what my hypothetical universe is.  I have a rotating universe that is 

spherical made of spheres. I assume the hypothetical universe is rotating on 3 axes so 

that each point a fraction of the total distance from the center would have equal 

velocities.  So a point that was 60 percent from the center would have a velocity of 0.6 

times the speed of light At a hypothetical center, the velocity is zero, at the edge the 

velocity is the speed of light.  As I pack each layer of spheres I get a certain amount of 

defects.  The amount of defects at each layer would be 2 2( 1)n n− −  For simplicity I took 

out the value 4  so in actuality one sphere would actually be 4  spheres.  The mass 

of particles at the center have a rest mass the ones at any point would have a mass of 

the rest mass times the Lorentz factor.  So let’s take a look at the equation. 

 
2 2

2 .5

( / ) (( 1) / )
1 /

(1 ( / ) )

n

n

x n x n
n x n dx

x n


−

− −
 =

−  

 

/x n  represents a fraction of the speed of light 

 
2 2(( / ) (( 1) / ) )x n x n− −  the fraction of the amount of defects at fraction from the distance 

from the center of the universe 

 
2 .1/ (1 ( / ) ) 5x n−  represents the Lorentz factor at that point in the universe 

 

The value of the equation would give me the relativistic mass divided by the rest mass 

or the ratio relativistic energy total for the universe vs the rest mass total of the universe. 

 

Explanation for the value of 
.512

P


= =The packing density of a single layer of spheres.  

In the explanation for equation 6, we find, that there are, a certain amount, of spheres, 

on the outside layer of spheres.  These spheres cannot be packed to a 100 percent 

limit.  The maximum efficiency for packing spheres in a single layer is the value of 

.512
P


=  

 

Explanation of 
p

n

M

M
 

When calculating the ratio of the mass of the proton to the neutron, in” An Electro 

Magnetic Resonance in 9 Dimensions that gives Mass Ratio of Proton to Neutron”[9], 

we found that it was from a relationship of Cherenkov Radiation to Bremsstrahlung 

radiation. When calculating the gravitational force and the electro magnetic force, in 

“Proton Electron Universe”[10]We found that charge is related to the ratio of the electron 
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mass to the neutron mass and gravity was related to the proton to the neutron mass.  In 

this exercise we are calculating the size of the layers of the universe which is related to 

gravity and it appears that the ratio of 
p

n

M

M
is important in limiting the size of the layers. 

 

Explanation of 
2X X+  

 

The value 
2X X+ is part of the angular spin momentum equation squared.  It is also 

part of the equation for calculating the amount of discontinuities of a sphere. 

 

Appendix B-Explanation of Equation 6 
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Equation 6 is basically looking at how far light travels from the center of the universe to 

the edge of the universe.  Looking at a spinning universe it look like light actually travels 

in a spiral from the center to the edge.  Using Equation 7 we calculate a value of 
81

10 1.8654150388941*10s = .  This is the calculated amount, of Planck Spheres, on the 

outer layer of our universe.  From this equation it is a simple volume calculation to 

calculate a travel distance to the outside of the universe. 

 

Explanation of E  

 
2 2 2 0.5( 1 ) 4.554032147688E  = + + = =  

 

In a hollow sphere, when we are looking at putting on one additional units sphere layer, 

this additional expansion by a unit sphere will have 3 dimensions of expansion, it will 

expand pi units in two perpendicular directions and a value of on in the next layer.  

When one calculates the scalar change, it is the value of E .  It is proposed that this 

limits the size of a universe.  Since the outside of the universe, in sphere theory is 

spinning, the maximum radius would then be proportional to the speed of light divided 

by the value of E. 

 

Explanation for the value of 3  in the numerator, next to E .   

 

It should be noted that for each particle, each neutron, each proton, each electron.  

They are all composed of 3 Planck Spheres for their mass.  When calculating the area, 

the Compton wavelength for the neutron is multiplied by 3, in this equation the author 

chose to place the 3 outside of the parenthesis.  
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Explanation for the value   

 

Explanation for the value of  in the denominator below the value 3  

 

This value of  is similar to a calculation for Cherenkov radiation we are essentially 

adding up all of the energy of a spinning sphere and including the Lorentz factor.  Since 

the discontinuity particles are distributed amongst the sphere, some are moving near 

the speed of light and some are moving hardly at all.  The summation of all of these 

particles equals a ratio of   if there were no Lorentz factor involved.  The equation for 

this is shown below.  Note that since the discontinuities 2 2( 1)x x− − are less and less 

dense towards the edge of the universe, the Lorentz factor, although very large, 

contributes less than expected to the actual mass of the universe.  Also note, that since 

the travel of light is a spiral the density of matter, at the edge of the universe, and since 

the Lorentz factor shrinks the appearance of distance, the density of matter appears 

much greater than it is. 

 

Explanation of 
p

n

M

M
 

When calculating the ratio of the mass of the proton to the neutron, in” An Electro 

Magnetic Resonance in 9 Dimensions that gives Mass Ratio of Proton to Neutron”[9], 

we found that it was from a relationship of Cherenkov Radiation to Bremsstrahlung 

radiation. When calculating the gravitational force and the electro magnetic force, in 

“Proton Electron Universe”[10]We found that charge is related to the ratio of the electron 

mass to the neutron mass and gravity was related to the proton to the neutron mass.  In 

this exercise we are calculating the size of the layers of the universe which is related to 

gravity and it appears that the ratio of 
p

n

M

M
is important in limiting the size of the layers. 

Explanation of the value A  

 

The value A  is the square of the Neutron Compton Wavelength multiplied by the value 

of .  This is the area taken up by each Planck Sphere with the exception that the 3 is 

place outside of the parentheses, as explained about for the value of 3 . 

 

Explanation for the value of 
.512

P


= =The packing density of a single layer of spheres.  

In the explanation for equation 6, we find, that there are, a certain amount, of spheres, 

on the outside layer of spheres.  These spheres cannot be packed to a 100 percent 

limit.  The maximum efficiency for packing spheres in a single layer is the value of 

.512
P


=  

Explanation of the value of 4  
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The value of 4 is simply necessary for converting to a radius. 

 

 

 

 

 

 

 

Explanation for the distance in the following equation. 
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The value of 913.74551*10  is simply the conversion from the value equation 6 calculates 

in meters, to the value in light years. 
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